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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21# Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school board examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-yvear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

& & T &t = dm 36 q1gcd J 8 g6l 8, Ted T8 Haed I AT AETHR a9 wiifes i
1 A6 L ol § TR H 91E, TET Bt T8 | HiE 3 g6 9 B W G g6 9 w=en
ST 2 98 hdsd Tl el o1 Gehar | 9fE 6 99 & iy fyar i e g = fawm % et
famm it @, 37 fou sfe & sgEm wen, FEi-w qon foen & gn @ A, O 3R wEafEd e
o 3R e o v 3 s=m 9 auge afe 3 et 37 5 o faae o fo i &@m, =i &
e gt faer géft, safemm wnd +t 97 gl 3t s fem Issae 8 Sesadd B O 3
a9 I @ W e s am @ svemerg 2, S fafem w5t i 4 s w0 9w, wawm w
wfigra e -3eert &1 ToETH|

arar-fien =t sex & =i B @ st wenat & sft-sh wfa qw wfw  srEm wen, saEE
s1ife &t wft foran o g famw 39t wifvat off fassfam &1 o9 3f 9 s=o1 aon smavasaTTER s &l |
w1 ot F mh| Ug A gAEE T A G IR FHesd @l Hebdl 8, Tl had SH 9 Ih
AT & @R Al w1 Frdt e s @ wa s

What is the meaning of the word omnibus?

(1) All pervasive (2) Pragmatic
(3) Compendium {(4)  Vehicle
(1) 1

(2) 2




(3) 3
(4) 4

et i & e wdw Tete-seR @ 2

(1) T[T &
(3)  I9EE FEI

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17501]
2[Option ID=17502]

3[Option ID=17503]
4[Option ID=17504]

(2)
(4)

wEed! a9 1

BRI RC ] )
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21# Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school board examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-yvear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

& & T &t = dm 36 q1gcd J 8 g6l 8, Ted T8 Haed I AT AETHR a9 wiifes i
1 A6 L ol § TR H 91E, TET Bt T8 | HiE 3 g6 9 B W G g6 9 w=en
ST 2 98 hdsd Tl el o1 Gehar | 9fE 6 99 & iy fyar i e g = fawm % et
famm it @, 37 fou sfe & sgEm wen, FEi-w qon foen & gn @ A, O 3R wEafEd e
o 3R e o v 3 s=m 9 auge afe 3 et 37 5 o faae o fo i &@m, =i &
e gt faer géft, safemm wnd +t 97 gl 3t s fem Issae 8 Sesadd B O 3
a9 I @ W e s am @ svemerg 2, S fafem w5t i 4 s w0 9w, wawm w
wfigra e -3eert &1 ToETH|

arar-fien =t sex & =i B @ st wenat & sft-sh wfa qw wfw  srEm wen, saEE
s1ife &t wft foran o g famw 39t wifvat off fassfam &1 o9 3f 9 s=o1 aon smavasaTTER s &l |
w1 ot F mh| Ug A gAEE T A G IR FHesd @l Hebdl 8, Tl had SH 9 Ih
AT & @R Al w1 Frdt e s @ wa s




What are the challenges the NEP 2020 is bound to face, according to the passage?

(1) Resistance from students to the new proposed changes
(2) Creation of new text hooks across the various states is a challenging task
(3) Working to create consensus with the states on implementation
(4) Shockingly poor literacy and numeracy outcomes in primary schools
1) 1
(2) 2
(3) 3
(4) 4

AT Toa1 1 F=3 F T FAT 7 6 -
(1) 3 37 foe FumEys gamg = 3o (2) 9 3% o =aEmE g w5

(3) ATH T F FIETTE AE EATHE (4 F I [EEE [0

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17505]
2[Option ID=17506]

3[Option ID=17507]
4[Option ID=17508]
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21# Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school board examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-yvear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

& & T &t = dm 36 q1gcd J 8 g6l 8, Ted T8 Haed I AT AETHR a9 wiifes i
1 A6 L ol § TR H 91E, TET Bt T8 | HiE 3 g6 9 B W G g6 9 w=en
ST 2 98 hdsd Tl el o1 Gehar | 9fE 6 99 & iy fyar i e g = fawm % et
famm it @, 37 fou sfe & sgEm wen, FEi-w qon foen & gn @ A, O 3R wEafEd e
o 3R e o v 3 s=m 9 auge afe 3 et 37 5 o faae o fo i &@m, =i &
e gt faer géft, safemm wnd +t 97 gl 3t s fem Issae 8 Sesadd B O 3
a9 I @ W e s am @ svemerg 2, S fafem w5t i 4 s w0 9w, wawm w
wfigra e -3eert &1 ToETH|

arar-fien =t sex & =i B @ st wenat & sft-sh wfa qw wfw  srEm wen, saEE
s1ife &t wft foran o g famw 39t wifvat off fassfam &1 o9 3f 9 s=o1 aon smavasaTTER s &l |
w1 ot F mh| Ug A gAEE T A G IR FHesd @l Hebdl 8, Tl had SH 9 Ih
AT & @R Al w1 Frdt e s @ wa s




Which problems does the NEP 2020 aim to eliminate?

(A)
(C)

Problems of pedagogy

Rampant commercialization

(B)
(D)

Structural inequalities

Access symmetry

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Only A

Only B and C
Only A, Band C
Only A, Cand D

oiftger ‘argea’ i &t fepm it 5w dim 5 w6 W aEd 27

(1)
(3)

(1) 1
(2) 2
(3) 3
4) 4

w4 &t &% Sftad %1 vEeE 2w q a T E (2)

5 &t e g °f 99 & fofa |

1[Option ID=17509]
2[Option ID=17510]
3[Option ID=17511]
4[Option ID=17512]

(1)

e it wE-uE @ °f a9 "redt 8
wa & gw Fan 3 o @ w faola @
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21# Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school board examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-yvear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

& & T &t = dm 36 q1gcd J 8 g6l 8, Ted T8 Haed I AT AETHR a9 wiifes i
1 A6 L ol § TR H 91E, TET Bt T8 | HiE 3 g6 9 B W G g6 9 w=en
ST 2 98 hdsd Tl el o1 Gehar | 9fE 6 99 & iy fyar i e g = fawm % et
famm it @, 37 fou sfe & sgEm wen, FEi-w qon foen & gn @ A, O 3R wEafEd e
o 3R e o v 3 s=m 9 auge afe 3 et 37 5 o faae o fo i &@m, =i &
e gt faer géft, safemm wnd +t 97 gl 3t s fem Issae 8 Sesadd B O 3
a9 I @ W e s am @ svemerg 2, S fafem w5t i 4 s w0 9w, wawm w
wfigra e -3eert &1 ToETH|

arar-fien =t sex & =i B @ st wenat & sft-sh wfa qw wfw  srEm wen, saEE
s1ife &t wft foran o g famw 39t wifvat off fassfam &1 o9 3f 9 s=o1 aon smavasaTTER s &l |
w1 ot F mh| Ug A gAEE T A G IR FHesd @l Hebdl 8, Tl had SH 9 Ih
AT & @R Al w1 Frdt e s @ wa s




Which of the following provisions of the NEP 2020 would generate least friction?

(1) Provision of an energy filled breakfast in addition to mid-day meal
(2) Creation of an apex body for fee-regulation
(3) Imposition of English as a universal medium of instruction
(4) Creation of an apex body to administer aptitude tests
(1) 1
(2) 2
3) 3
(4) 4

cifgest % sqaEn, = d & s w1 uqE wem g -

(1) =r=a ¥ =fied & (20 fodt & e @ foen &
(3)  =eEEn & % G mowE (4) sl 49 @ e o s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17513]
2[Option ID=17514]

3[Option ID=17515]
4[Option ID=17516]
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21# Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school board examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-yvear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

& & T &t = dm 36 q1gcd J 8 g6l 8, Ted T8 Haed I AT AETHR a9 wiifes i
1 A6 L ol § TR H 91E, TET Bt T8 | HiE 3 g6 9 B W G g6 9 w=en
ST 2 98 hdsd Tl el o1 Gehar | 9fE 6 99 & iy fyar i e g = fawm % et
famm it @, 37 fou sfe & sgEm wen, FEi-w qon foen & gn @ A, O 3R wEafEd e
o 3R e o v 3 s=m 9 auge afe 3 et 37 5 o faae o fo i &@m, =i &
e gt faer géft, safemm wnd +t 97 gl 3t s fem Issae 8 Sesadd B O 3
a9 I @ W e s am @ svemerg 2, S fafem w5t i 4 s w0 9w, wawm w
wfigra e -3eert &1 ToETH|

arar-fien =t sex & =i B @ st wenat & sft-sh wfa qw wfw  srEm wen, saEE
s1ife &t wft foran o g famw 39t wifvat off fassfam &1 o9 3f 9 s=o1 aon smavasaTTER s &l |
w1 ot F mh| Ug A gAEE T A G IR FHesd @l Hebdl 8, Tl had SH 9 Ih
AT & @R Al w1 Frdt e s @ wa s




What is the author’s stand about the NEP 2020 in the above passage?

(1) Moderately critical and supportive
(2) Wholly critical of the policy

(3) Wholly supportive of the policy

(4) Not at all clear from the passage

1) 1
(2) 2
(3) 3
4) 4

frafafaa & @ sF-a1 ‘waw’ = g9ds 2

(1)  #d= (2) ===
(3) @ (4) i@

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17517]
2[Option ID=17518]

3[Option ID=17519]
4[Option ID=17520]

Sl. No.6
QBID:1001006

Identify the correct tense used in : ‘She will have been waiting for you.

(1) Future perfect (2) Simple future
(3) Future perfect continues {(4) Future continuous
(1) 1
(2) 2
(3) 3
(4) 4
HgaTd &1 TEiEarE 9 #
(1)  wren (2 R
(3) GEEIR (4) gIE-=m
(1) 1
(2) 2

(3) 3




(4) 4

1[Option ID=17521]
2[Option ID=17522]
3[Option ID=17523]
4[Option ID=17524]

Sl. No.7
QBID:1001007

Identify the correct tense used in : ‘T am doing the task assigned to me’.

(1) Present perfect (2) Simple present

(3) Present continuous (4) Present perfect continuous

1) 1
(2) 2
(3) 3
(4) 4

‘fara o Form wfa it w27

(1) Hle™ (2) ey
(3)  deHieE (4) famrft

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=17525]
2[Option ID=17526]

3[Option ID=17527]
4[Option ID=17528]

SI. No.8
QBID:1001008

Identify the correct poetic device in ‘Silvery sunlight’.

(1) Alliteration (2) Simile

(3) Metaphor (4) Symbolizm
(1) 1

(2) 2

3) 3

(4) 4




Tt weelt 3 w6 wEwEa i’

TH 919 § S 91 FH 27
(1)  hdl (2) HYEH HMH

(3) U HH (4) wH F:AH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17529]
2[Option ID=17530]

3[Option ID=17531]
4[Option ID=17532]

Sl. No.9
QBID:1001009

Find the most appropriate meaning for the following idiom : ‘First in, best dressed’.

(1) To be well read (2) Tohave an advantages
(3) To have the latest fashion (4) To spend a lot of money

(1) 1
(2) 2
(3) 3
(4) 4

frfefiga 7 & S9-m1 fawen faam &1 gfe 3 =8t =51 27

(1)  3RE-FaEls (2) i -srrhifE
(3) I (1) gIfg-3mgafs

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17533]
2[Option ID=17534]

3[Option ID=17535]
4[Option ID=17536]

Sl. No.10
QBID:1001010




Find the most appropriate meaning of the following phases: "Man of letters".

(1) A professional letter writer (2) A literary person

(3) A very important man (4) A post master

(1) 1
(2) 2
(3) 3
(4) 4

3T § SA-d afg 27

(1) e afy (2) =m afy
(3) T Efy (4) afg=fy

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17537]
2[Option ID=17538]

3[Option ID=17539]
4[Option ID=17540]

Sl. No.11
QBID:1001011

Find the most appropriate antonym for the word ‘Callous’.

(1) Sensitive (2) Clumsy

(3) Hopeful (4) Excited

(1) 1
(2) 2
(3) 3
(4) 4

mfy fra wftg des g e 31 27

(1) e (2) =forE T
(3)  wder wrdt (4) e ot

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17541]




2[Option ID=17542]
3[Option ID=17543]
4[Option ID=17544]

Sl. No.12
QBID:1001012

Find the most appropriate synonym for the word ‘baffle’

(1) Livid (2) Question
(3) Confuse (4) Furious

1)1
(2) 2
3) 3
(4) 4

frmafafiaa | @ 9g 9641 a1 W=g %1 =74 fifn)
(1) 3 (2) g
(3)  amfrafe (4) fafim

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17545]
2[Option ID=17546]

3[Option ID=17547]
4[Option ID=17548]

Sl. No.13
QBID:1001013

Select the word segment that substitutes (replaces) the bracketed word segment correctly and
completes the sentence meaningfully. Select the option ‘no correction’ required’ if the sentence
is correct as given.

I know how devoted (to the previous code and the honour you are, Gabriel)

(1) To the precious code and ones honour you are, Gabriel
(2) To the precious code and your honour you are, Gabriel
(3) To the precious code and an honour vou are, Gabriel
i(4) No correction required

(1) 1

(2) 2

(3) 3

(4) 4




o e N ) L
[HHTANET R=A ‘T[:F H 'T;H O] FqTFE & ¢

"'II—L-.:I 3 ':I-qu': ':13:|E t’
(1) 9 AR (2) F9E1 AAFK

(3) FUF IAFK (4) T9F ITAFR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17549]
2[Option ID=17550]

3[Option ID=17551]
4[Option ID=17552]

Sl. No.14
QBID:1001014

Which of the following poets is not associated with metaphysical poetry?

(1) Philip Sidney (2) Andrew Marvell
(3) George Herbert (4) Henry Vaughan

(1) 1
(2) 2
(3) 3
(4) 4

H H1 YeE BN e § g A1 27

(1) Hrd (2) STt
(3) T (4) &

1)1
(2) 2
3) 3
(4) 4
1[Option ID=17553]
2[Option ID=17554]

3[Option ID=17555]
4[Option ID=17556]

Sl. No.15
QBID:1001015

Select the word that is similar in meaning to ‘abject’

(1) Senile (2) Perfunctory
(3) Putrid (4) Obsequious




1) 1
(2) 2
3) 3
(4) 4

forg g % ugel aun At WO § 13-13 i gEt qun S S § 11-11 9 g6 #, 98 9 S 8

(1)  dran (2) Tem
(3)  =E (4)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17557]
2[Option ID=17558]

3[Option ID=17559]
4[Option ID=17560]

Sl. No.16
QBID:1001016

Fill in the blank with the correct preposition:

I will see you ————— the morning
(1) at (2) on
(3) in {4y for

(1) 1
(2) 2
(3) 3
(4) 4

AT T B

(1)  cqs9 g9 (2) fam awm
(3)  wHUTT TEE (4) srerfvE TEE

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17561]
2[Option ID=17562]




3[Option ID=17563]
4[Option ID=17564]

Sl. No.17
QBID:1001017

Identify the gerund correctly in the given sentence: ‘painting isn't just a form of art, it is a
form of therapy’

(1) Therapy (2) Art

(3) Isn't (4) Painting

1) 1
(2) 2
3) 3
(4) 4

‘Stet gea geret w1 3 2
(1) F3 & (2) & g e
(3) wEm FHE (4) 9 1 A1 A

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17565]
2[Option ID=17566]

3[Option ID=17567]
4[Option ID=17568]

Sl. No.18
QBID:1001018

In the following sentence : “He speaks in a more polite tone than most men I've met.” ‘more
polite’ is a form of :

(1) Abstract noun (2) Superlative

(3)  Comparative (1) Positive adjective
1) 1
(2) 2
(3) 3

(4) 4




TE G di Fgia &7 g &
ferme simar 8-

3 % wia g § aatia
= TE 7

HIR ] GHY F T 87
1 ofwal § =i @ w27
(1) =™

(3) LS

(2)
(4)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=17569]
2[Option ID=17570]

3[Option ID=17571]
4[Option ID=17572]

E e
dieed ™

Sl. No.19
QBID:1001019

Which of the following words is spelt correctly?

(2)
(4)

Vaccum

(1)
(3) Vaacum
(1) 1
(2) 2
(3) 3
(4) 4

fra i 4 frg g | e ad=w =0 § 27

(1)
(3)

(2)
(4)

T8 g8 HL 3
== |l T8 R

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17573]
2[Option ID=17574]

Vaccuum

Vacuum

GECIRCE RG]
I e @i




3[Option ID=17575]
4[Option ID=17576]

Sl. No.20
QBID:1001020

In which of the following sentences ‘have’ is not used as an auxiliary verh?
(1) I have lost all faith now {(2) I have never been to pine before

(3) I have a shower every morning (4) I have admitted by fault

(1) 1
(2) 2
(3) 3
(4) 4

Ta e A Fwen Al

s ‘e e e @ 2

(1)  =rEETE T (2) TOFTEIE T
(3) e faemm (4) FeEIEF
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17577]
2[Option ID=17578]
3[Option ID=17579]
4[Option ID=17580]

Sl. No.21
QBID:1001021

Which of the following word-sets contain the same vowel sound?

(1) Bite-kite-site (2) Like-lick-luck
(3)  See-sick-say (4) Ball-bell-hill

(1) 1
(2) 2
(3) 3
(4) 4

f= & & F-m s wrfars @ @ o6 weaEs g T2 27

(1)  EoEmwd (2) =
(3  wweh (4) "=
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=17581]
2[Option ID=17582]
3[Option ID=17583]
4[Option ID=17584]

Sl. No.22
QBID:1001022

In 1928, the book Gay-neck: The story of a Pigeon won the John Newbery medal’. It was
written by

(1) Dhan Gopal Mukerji (2) R.K. Naravan

(3) Mahadevi Verma (4) Sarojini Naidu

1) 1
(2) 2
(3) 3
(4) 4

seaTfeieRa wreg fore Irent-weadi & & 27

(1) 3fg 3=, @ (2 wfa =%, @

(3) AqE &, Al (4) 2 3, Hal

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17585]
2[Option ID=17586]

3[Option ID=17587]
4[Option ID=17588]

Sl. No.23
QBID:1001023

Which Indian novelist got nominated for Nobel prize in literature several times but did not
get it?

(1) Arundhati Roy (2) Amitav Ghosh
(3) R.K. Narayan (4) Prem Chand
(1) 1
(2) 2
(3) 3

(4) 4




fpeferfiaa # & aem weg < @ a7

(1) u& (2) Tt

(3 9fw (4) T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17589]
2[Option ID=17590]

3[Option ID=17591]
4[Option ID=17592]

Sl. No.24
QBID:1001024

Which of the following is not written by Ruskin Bond?

(1) The blue umbrella (2) Dehradun is not far

(3) Roads to Mussorie {4) The room on the roof

1) 1
(2) 2
(3) 3
(4) 4

“forht s 7 1 T A A & fo S v e R

(1) I (2) F9eATE
(3) sronf=ra (4) W

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17593]
2[Option ID=17594]

3[Option ID=17595]
4[Option ID=17596]

Sl. No.25
QBID:1001025




Who among the following is a novelist?

(1) Toni Morrison (2) Chetan Bhagat
(3) Marry Oliver (4) Neil Postman

(1) 1
(2) 2
(3) 3
(4) 4

Frerferfa & & % a1 wrez qfm 27

(1) afufa (2 T
(3)  wem (4) 3%

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17597]
2[Option ID=17598]

3[Option ID=17599]
4[Option ID=17600]

Sl. No.26
QBID:1002026

Which of the following is not a classical dance form?

(1) Bharatnatyam (2) Manipuri
(3) Mohinivattam (4) Kudiyattam

(1) 1
(2) 2
(3) 3
(4) 4

=t # & - e g0 A= 27

(1)  WeEH (2) @
(3  wifefraes (4) FAA
(1) 1
(2) 2

(3) 3




(4) 4

1[Option ID=17601]
2[Option ID=17602]
3[Option ID=17603]
4[Option ID=17604]

Sl. No.27
QBID:1002027

Arrange the following plans in accordance of their chronological order, the recent one comes
first

(A) Bombay plan (B) Gandhian plan
(C) People’s plan (D) Sarvodaya plan

Choose the correct answer from the options given below :
(1 (A), (C), (D), (B)
(2) (A), (D), (B), (C)
(3) (A), (B). (C). (D)
(4) (A), (B), (D), (C)

(1) 1
(2) 2
(3) 3
(4) 4

frferfiaa i (arsmatt) &t 9% wfia @ 3yaa % Fewaan @1 ¥ sEfeg if)
(A) =9 wEH (=" I
(B) it o (it )

(C)  died @ (S Frar)

(D) wdlkcd =

#ra feu mu famedi § & gt 39 =1 999 Fifsw .
(1) (A), (C), (D), (B)
(2) (A), (D), (B), (C)
(3) (A), (B), (C), (D)
(4) (A), (B), (D), (C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17605]
2[Option ID=17606]

3[Option ID=17607]
4[Option ID=17608]

Sl. No.28
QBID:1002028




Under a normal curve x+3¢ (sigma) covers :

(1) 99.37 percent
(3) 99.73 percent

(1) 1
(2) 2
(3) 3
(4) 4

ferelt M= @6 & st x4+ 30 (o) Fmfdse =@ 2

(1) 99,37 ufaw@
(3) 99,73 ufas@

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17609]
2[Option ID=17610]

3[Option ID=17611]
4[Option ID=17612]

(2)
(4)

(2)
(4)

99.23 percent
99.32 percent

99.23 dfeeE
99.32 wfewm

Sl. No.29
QBID:1002029

Which of the following is a tributary of Ganga?

(1) Krishna river

(3) Kali river

(1) 1
(2) 2
(3) 3
(4) 4

fe=r & & -t 7 i gEEE A6 R

(1) 9T Tl
(3)  Hrelt T8

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17613]

(2)
(4)

Luni river

Tista river

o T
forean 6t




2[Option ID=17614]
3[Option ID=17615]
4[Option ID=17616]

Sl. No.30
QBID:1002030

Who among the following is world's first woman Prime Minister?

(1) Indira Gandhi

(3) Sirimao Bandaranaike
(1) 1
(2) 2
3) 3
4) 4
= 4 & =5 faga i yuw afeen gum o= &7
() 3fen mh

(3) fafmiss vemEms

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17617]
2[Option ID=17618]

3[Option ID=17619]
4[Option ID=17620]

(2) Angela Markel
(4) Hillary Clinton

(2) U HThel
(4) feerft fosien

Sl. No.31
QBID:1002031

FV Sindhu won

(1) Gold
(3) Bronze

1) 1
(2) 2
(3) 3
(4) 4

et 2020 * ¥ % vwe wfeen gwEa § 6 & fayg 3

(1) =m
(3) &=
(1) 1

2) 2

medal at women's singles in Badminton at Olympic 2020

(2) Silver

{4) Consolation

ggeh Al

(2) T4

(4) reaTEd




3) 3
(4) 4

1[Option ID=17621]
2[Option ID=17622]
3[Option ID=17623]
4[Option ID=17624]

Sl. No.32
QBID:1002032

Which among the following is a domestic first class cricket tournament?

(1) Deodhar tournament (2) Salim Ali tournament

(3) Duleep tournament (4) Santosh tournament

(1) 1
(2) 2
(3) 3
(4) 4

Fr=r 5 & - =t e aoft fsee Hamaen 27

(1) g e (2) @elm a7eh ZaHe
(3)  faeft gAfde (4) @ gAfte

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17625]
2[Option ID=17626]

3[Option ID=17627]
4[Option ID=17628]

Sl. No.33
QBID:1002033

Right to Education Act (2009) came through

(1) Eightieth constitution amendment
(2) Eighty fifth constitution amendment
(3 Eighty sixth constitution amendment

(4) Eighty eighth-constitution amendment

(1) 1
(2) 2
(3) 3
(4) 4




fonan =1 sfusr sifufrm (2009) fea Feiem & ofom @ey sfufafia gane

(1) 80 = gfquE gsies (2) 85 =f Gfaum FeiieA
(3) 86 = gfaum e (4) 88 af gfaym gemga

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17629]
2[Option ID=17630]

3[Option ID=17631]
4[Option ID=17632]

Sl. No.34
QBID:1002034

The literary work dealing with Qutub ud din Aibak

(1) Minhaj us siraj (2) Khazain ul Futuh
(3) Turkan i chahalgani (4) Taj ul-Masir

(1) 1
(2) 2
(3) 3
(4) 4

98 "ifzfers Ffd 91 Fa9-3¢-3F vaw | gafua 2

(1)  foers 3w faow (2) @A I FR
(3)  THH-T-TgerTH (4) @ 3 - =i

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17633]
2[Option ID=17634]

3[Option ID=17635]
4[Option ID=17636]

Sl. No.35
QBID:1002035

Who was the last Nanda ruler, who was defeated by Chandragupta Maurya?

(1) Ghana Nanda {(2) Mahapadma Nanda
(3) Dhana Nanda {4) Maha Nanda

1) 1




2) 2
3) 3
(4) 4

T ° TgH A grn vl @ aren sifoe Agasia e i e

(1) IPEIEE (2) HaMRHE<
(3) HAEE (4) WEHE

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17637]
2[Option ID=17638]

3[Option ID=17639]
4[Option ID=17640]

Sl. No.36
QBID:1002036

India will welcome Cheetah from ———— under cheetah relocation plan.

(1) South Africa (2) Kenva
(3) Mali (4) Rawanda

1) 1
(2) 2
(3) 3
(4) 4

< GaTE FHE o d5d U0A § 68 531  =id =0 S T 2 7

(1)  =iam s (2) ==
(3 Tl (4) TET=
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=17641]
2[Option ID=17642]
3[Option ID=17643]
4[Option ID=17644]

Sl. No.37
QBID:1002037




Which of the following states is first one to give community Forest Resources Rights?

(1) Odisha (2) Chattisgarh
(3) Madhya Pradesh (4)  Arunachal Pradesh

(1) 1
(2) 2
(3) 3
(4) 4

aeTfis 99 gange AfHR § aTen yuw TSy SHE-T 27

(1)  sifem (2) wHETE
(3) WA WeW (4) ITEUITIS wed

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17645]
2[Option ID=17646]

3[Option ID=17647]
4[Option ID=17648]

Sl. No.38
QBID:1002038

Which of the following countries is the winner of Thomas cup, 20227

(1) China (2) Indonesia
(3) South Korea {(4) India

(1) 1
(2) 2
(3) 3
(4) 4

= § & - g9 9w 9 — 2022 % fSEA Ry

(1) == (2) AR
(3)  =feqm wifeEn (4) WE
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=17649]
2[Option ID=17650]
3[Option ID=17651]
4[Option ID=17652]

Sl. No.39
QBID:1002039

Given below are four statements. Choose the most appropriate

(1) Sex and gender are both biologically decided

(2) Sex and gender are both socially decided

(3) Sex is decided socially, gender is decided biologically
(4) Sex is decided biologically, gender is decided socially

(1) 1
(2) 2
(3) 3
(4) 4

Hr=2 9 wya for mo B ged 2fEa w6 g

(1) i dRidifsdfufaaag |
(2 fém v S g1 & amnfas a0 & fulfa a9 80
(3) o omnfos, qun Jet e w0 & Puffa em 2
(4)  fém Sfas, gun Siet gt w9 & fuffa @ g

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17653]
2[Option ID=17654]

3[Option ID=17655]
4[Option ID=17656]

Sl. No.40
QBID:1002040

If the economy is operating at potential GDP, an increase in the money supply will lead to

(1) Stagflation (2) Structural inflation
(3) Demand =side inflation (4) Supply side inflation
(1) 1
(2) 2
(3) 3

(4) 4




g WdeTaE BT 511,20, W = =, 91 95 A ° Jig 96 A1 AtguiE wo

(1)
(3}
(1) 1
(2) 2
(3) 3
(4) 4

wfifagsg oy (T )

1[Option ID=17657]
2[Option ID=17658]
3[Option ID=17659]
4[Option ID=17660]

(2)
(4)

g-:-. ERIREE ﬂ,.l_ 1:':lillml
AT 9aTE gEhi

Sl. No.41

QBID:1002041

Basic postulates of Marx's political philosophy include

(A)
(B)
(C)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3
(4

1)1
(2) 2
3) 3
(4) 4

v % T 29 % e awi B afef § -

Historical materialism
Class-struggle
Theory of surplus value

Individual freedom

A and B only
A, Band C only
A and C only
B. C and D only

(A)  Ufeie Wfiware

(B)  af-med

()  ifafer gea = fagmE

(D) =fwmE e

fr= few o faepedi & & @t I 1 w9 i
(1) aet AR B

(2) HIs A B3 C

(3) Had A3 C

(4)

%ad B, C 3D




1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17661]
2[Option ID=17662]
3[Option ID=17663]
4[Option ID=17664]

Sl. No.42

QBID:1002042

The POCSO Act 2012 was amended in the year

(1)
(2)
(3)
(4)

(1)
(2)
3)
(4)

A W N =

2018
2017
2015
2013

dreE (POCSO) e 2012 =+t fra =4 genfye faem mne?

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

2019
2017
2015
2013

1[Option ID=17665]
2[Option ID=17666]
3[Option ID=17667]
4[Option ID=17668]

Sl. No.43

QBID:1002043




Match List I with List 11

List I List IT
Author Books
(A)  Aristotle (I}  Politics
(B) Karl Marx (IIY The communist manifesto
() Rousseu (IIT) The social contract
(I J.8. Mill (IV) On liberty

Choose the correct answer from the options given helow :

(D (A)-(I), (B)-(ID), (C)-(IV), (D)-(11T)
(2) (A)-(I), (B)-(ID), (C)-(I1I), (D)-(IV)
(3 (A)-(IV), (B)-(I1D), (C)-(I). (D)-(IT)
(4 (A)-(I1I), (B)-(IT), (C)-(I), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4
gt-1 % @y ge-11 %1 faem $ifsw .
i1 11
GiCE ELsiEa
(A) I (I) wiferfees
(B)  hretara (1) g w=gfee afrse
(C) w1 (II) & H9e Hede
(D) w.ud.fis (IV) 3 feradi
Hra feu o fameai 8 @ o I w1 == fifaw

(1) (A)-(D), (B)-(ID), (C)-(IV), (D)-(I1)
(2) (A)-(D), (B)-(ID), (C)-(11L), (D)-(IV)
(3) (A)-(IV), (B)-(11D), (C)-(D), (D)-(1I)
(4) (A)-(L1I), (B)-(ID), (C)-(D), (D)-(IV)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=17669]
2[Option ID=17670]

3[Option ID=17671]
4[Option ID=17672]




Sl. No.44
QBID:1002044

The child labour (prohibition and regulation) Act 1986 was amended in 2016. The Amended
Act

(1) Completely prohibits the emplovment of children below 14 yvears

(2) Allows certain specific employment possibilities for children below 14 yvears

(3) Allows children to be employed in the work that their parents may be doing

(4) Completely allows all kinds of employment of children below 14 years

1) 1
(2) 2
3) 3
(4) 4

=T 49 (Uiey vd fatEee ) sfatEme 1986 § gentad fee | "enas siaEag -

(1) 14 99 § 5 39 & =1 % FW T T g0 Tio@d = 2|

(2) 14 =9 T 9 39 F =1 F FI (G909 TE F U Fl G2 4401 7
(3) == W A FH N FA I PE oA & A A AGHEF H A A
(4) 14 =9 ° 7 W F w=01 F FEl 6 THR F FW FA Fge a2
(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=17673]
2[Option ID=17674]
3[Option ID=17675]
4[Option ID=17676]

Sl. No.45
QBID:1002045

UNESCO advances peace, sustainable development and human rights by facilitating
collaboration among nations through five major programme areas:

(1) Education, natural sciences, social sciences, culture and communication
(2) Education, physical sciences, technology, information and trade
(3) Education, natural sciences, economics, museums and heritage sites
i(4) Education, physical sciences, technology, trade and heritage sites
(1) 1
(2) 2
(3) 3

(4) 4




frm o & fopm ofe geegdl ®EwEl & memm 4, o, fafim gl % oo wfs, ofes fem @
e @E fawE w weEm & G A 27

(1) forem, wpfaes fagm, gt fasm, dopfa @ gan
(2)  forem, vl fagm, o, ge va =mw

(3 Toen, wrpfas fomm, o9 o, derem v uie e
(4)  Tonem, wrepfers fagm, asidhl, =R @ wie =@

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17677]
2[Option ID=17678]
3[Option ID=17679]
4[Option ID=17680]

Sl. No.46
QBID:1002046

What was the original full form of UNICEF?

(1
(2)

United Nations International Children's Emergency Fund

United Nations Integrated Children's Education Fund

(3 United Nations Integrated Coalition And Emergency Federation
i(4) United Nations International Children's Education Federation
(1) 1
(2) 2
(3) 3
(4) 4

TfEE (UNICEF) &1 arefas quf am & o7

(1)  IAEes F9m ServHe foaegq oo e

(2)  FAEeE A s fargag ugHee w2

(3)  TATEes Avm s Fifaa it B

(4) AR A9 TS faegag ughve hEwH

(1)
(2)

1
2

(3) 3
(4) 4

1[Option ID=17681]
2[Option ID=17682]
3[Option ID=17683]
4[Option ID=17684]

Sl. No.47




QBID:1002047

(Given below are two statements : One is labelled as Assertion (A) and the other is lahelled as
Reason (R).

Assertion (A) ; There shall be a Council of Ministers with the Prime Minister at the head,

to aid and advise the President who shall, in the exercise of his functions,
act in accordance with such advice.

Reasons (R) : The executive power of the Union shall be vested in the President and shall
be exercised by him either directly or through officers subordinate to him in
accordance with this constitution

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 15 not correct

i(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

I= =1 oA T E v arivEeE (Asseﬂi@ﬂ(ﬂﬂ%@ﬁfﬂf@ﬁ%ﬁ?iﬁﬁ?ﬂ%m{Reasons (R))
-'EE‘CIﬁ:
ATFH (A) T F A9 B TP I HEEAl FE AR 3@ TE o F 90 UF gemees 26

Frm (R) Te 1 At (FEFHET) ot gata § FiEa 2 i el gtee F sEw o
THE B H HUET 394 3 SOl & 91599 O =4 9RRAT 1 9EE #5607

S YA 3w |, 5= 5 T {FEedt § | weH I S 6 99 i

(1) (A =it (R) 5H1 77 £ 31 (R), (A) F1 w81 =w= &

(2)  (A) 31 (R) 21 @74 7, =it (R), (A) F1 @8 = 74 2
(3) (AT 2, w4 (R) 38 =

4) (A 5= 2, S (R) O 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17685]
2[Option ID=17686]




3[Option ID=17687]
4[Option ID=17688]

Sl. No.48
QBID:1002048

Anoushka Shankar is a world reknowned
(1) Sitar

(2) Santoor

(3) Sehnai

(4) Sarangi

player

(1) 1
(2) 2
(3) 3
4) 4
ST Tt & fava uftrg ame= 2
(1) faar
(2) =R
(3) W
(4) |t
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17689]
2[Option ID=17690]
3[Option ID=17691]
4[Option ID=17692]

Sl. No.49
QBID:1002049

Bhagwat Geeta delineates Bhakti voga, Gyvan Yoga and

(1) Karma Yoga
(3) Prem Yoga

(1)
(2)
(3)
(4)

A W N =

(2) Dhayan Yoga

(4) Sukh Yoga

wagtar # witw 9/, 7@ 9m e
(1) =43

-

(3) T\ aEm

(1) 1

it ==t Bl
(2) =F gm
(4) @ am




(2) 2
(3) 3
(4) 4
1[Option ID=17693]
2[Option ID=17694]

3[Option ID=17695]
4[Option ID=17696]

Sl. No.50
QBID:1002050

Mekhla sador is a traditional attire of which of the following state?

(1) Assam

(2) Nagaland
(3) Meghalaya
i(4) West Bengal

(1) 1
(2) 2
(3) 3
(4) 4

“Haen \er’ = | 8@ fem o5y w1 ol afem 2

(A)  3mEm
(B)  ATTetvs
(C)  HETed
(D)  ofvsm |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17697]
2[Option ID=17698]
3[Option ID=17699]
4[Option ID=17700]

Sl. No.51
QBID:1002051

NCERT is an autonomous body set up in

(1) 1961 (2) 1951
(3) 1921 (4) 1931
(1) 1
(2) 2

(3) 3




(4) 4

THI T U Tar Hen @ e e 6 #

(1) 1961 (2) 1951
(3) 1921 (4) 1931

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17701]
2[Option ID=17702]

3[Option ID=17703]
4[Option ID=17704]

Sl. No.52
QBID:1002052

A teacher is discussing ‘terrace farming' in the class. Which of the following states is most
likely to find mention in this discussion?

(1) Nagaland

(2) Punjab

(3) Harvana

(4) Gujarat

(1)
(2)
(3)
(4)

A W N =

vk forfrmt wen # g @dft/H & w=it w0 @ 2 Foa o= § @ fem w1 s 3@ s § B A
Tatfus avET 27

(1)  AFTevE (2) v
(3)  &femn (4) TR
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17705]
2[Option ID=17706]
3[Option ID=17707]
4[Option ID=17708]

Sl. No.53
QBID:1002053




Which type of proteolytic enzymes found in gastric juice of infants helps in the digestion of
milk protein?

(1) Trypsin (2} Rennin

(3) Amylase (4) Lipases

(1) 1
(2) 2
(3) 3
(4) 4

firmatt % wr=m @ A fem yen w1 difeiemfes vamR T e @ gy 9ER % wee d wEra S
21

(1  fem @ W=

(3)  wHEE (1) wE

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=17709]
2[Option ID=17710]

3[Option ID=17711]
4[Option ID=17712]

Sl. No.54
QBID:1002054

What is the name of the primary teacher from Maharashtra who was awarded the ‘Global
teacher’ award by UNESCO?

(1) Ranjitsinh Disale

(2) Jagtar Ingole

(3) Mamta Paliwal

(4) Kishore Srinivas

1) 1
(2) 2
(3) 3
(4) 4




HEWTE % WA e e, 9 50F1 g TaEe 20 THE § TEiEG e T,
2
(1) s foam
(2) AR e
(3) THAT T
(4)  ToFoR Hifram
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=17713]
2[Option ID=17714]
3[Option ID=17715]
4[Option ID=17716]

Sl. No.55
QBID:1002055

‘Kyunki main Ladki hoon, Mujhe Padhna Hai' is a poem by which of these Indian feminists?

(1) Urwvashi Butalia
(2) Savitri Bai Phule
(3) Amrita Pritam
(4) Kamla Bhasin

1) 1
(2) 2
(3) 3
(4) 4

‘Fifs § d=hl &, 93 TeN &' - Tz Hiaa fmg A ardardt g a2

(1)  3dsft yerfern
(2)  @rfesh @ B

(3) 3 Hiew
(4) Hae wHH

1) 1
(2) 2
3) 3
(4) 4
i1[Option ID=17717]
2[Option ID=17718]

3[Option ID=17719]
4[Option ID=17720]

Sl. No.56
QBID:1002056




What is the full form of NCPCR?

(1
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

National Commission for Prevention of Child Rights
National Council for Protection of Child Rights
National Commission for Protection of Child Rights

National Commission for Promotion of Child Rights

w1 R, (NCPCR) &1 99 918 &1 27

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A9 FHEE TR AEwE ATE-SEes U2
T I U I —
F9HE FHITA FR GPFH 3TE e 22

FI FHEE BE THOE 1F wEes 5

1[Option ID=17721]
2[Option ID=17722]
3[Option ID=17723]
4[Option ID=17724]

Sl. No.57

QBID:1002057

Who of the following was not a member of the Constituent Assembly?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Dakshavani Velayudhan
Begam Aizaz Rasul

Purnima Banerjee
Kamla Nehru




fraferfiaa @ 2 = dfaum aw % T 7@ 47

(1)  camaeht Semge
(2) = TS e
(3) e e
(4)  FHen TEE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17725]
2[Option ID=17726]
3[Option ID=17727]
4[Option ID=17728]

Sl. No.58
QBID:1002058

Padmarg (Essence of the Lotus) is a book written by

(1) Rokeya Sakhawat
(2) Mahadevi Verma

(3) Begum Zafar Ali

i(4) Durgabai Deshmukh

(1) 1
(2) 2
(3) 3
(4) 4
“agurl’ (FHet H1 Te) THE Eak feeft ——— )
(1) Tz gEmEd
(2)  wareH aui

(3) =W wEn e

(4)  gtETs gorE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17729]
2[Option ID=17730]

3[Option ID=17731]
4[Option ID=17732]

Sl. No.59
QBID:1002059




What iz the name of the Indian reformer who founded the Anglo-Hindu College/Hindu
School, Kolkata?

(1) Ishwar Chandra Vidvasagar

(2) Savitribai Phule

(3) Rabindranath Tagore

{(4) Raja Ram Mohan Roy

(1)
(2)
(3)
(4)

A W N =

9 WA FHE GuRE S 4 5 oe-fag et/ fag wpe, e 6 s e

(1) v = faemamn
(2  wrfest & g
(3)  ws Y
(4) T W HEA T

(1)
(2)
3)
(4)

A W N =

1[Option ID=17733]
2[Option ID=17734]
3[Option ID=17735]
4[Option ID=17736]

Sl. No.60
QBID:1002060

What is El-Nino?

(1) A narrow belt of high altitude westerly winds in the troposphere

(2) A phenomenon related to the development of a warm ocean current along the coast of
Peru
(3) An apparent force caused by the earth's rotation and revolution
(4) A phenomenon related to the convergence of trade winds
1) 1
(2) 2
(3) 3

(4) 4




‘e R

(1) #wHed § 3= I=mEy 9t afvadi gasi 6 o g o
(2) U % 92 W U T gEErEE g % fGem 3 gefue afemen
(3) 9=t i guia ud gfeeau & S0 I 99

(4) =i TEE & sy & gefaa aftgen

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17737]
2[Option ID=17738]

3[Option ID=17739]
4[Option ID=17740]

Sl. No.61
QBID:1002061

Sustainable Development Goal-Life Below Water' aims at conserving and sustainably using

(1) Ground water resources
(2) Oceans, sea and marine resources
(3) Rivers, streams, ponds and lake resources
(4) Wetland and hinterland resources
1) 1
(2) 2
3) 3
(4) 4

A T =e - 59 I A= fEd F 5evg B, HE 1 UF 5 0 S TE e
(1)  goe "=

(2)  TEMEFE, HUE UE LA SEEA

(3) I, 9, TG U EHi g

(4)  wEEEl A T TS T HET

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17741]
2[Option ID=17742]

3[Option ID=17743]
4[Option ID=17744]

Sl. No.62
QBID:1002062




ISR('s satellite GSAT-7A was recently launched from which space station?

(1) Satish Dhawan Space Centre, Sriharikota, Andhra Pradesh
(2) Vikram Sarabhai Space Centre, Thiruvananthapuram Kerala
(3) Abul Kalam Island, Balasore, Odisha

i(4) Baikonur Cosmodrome, Kazakhstan

(1) 1
(2) 2
(3) 3
(4) 4

T4l & A-He-TA I9UE w7 & # fhm W @ wafim fen mne
()  =dte gaa iafe &z, defee, smoem

(2)  fosem amrd st g, fosamago,

(3) IS FHeH AFAUS, FTAER, IHLE

(4)  ETEHRMAL HIAEM, HAEEH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17745]
2[Option ID=17746]

3[Option ID=17747]
4[Option ID=17748]

Sl. No.63
QBID:1002063

Geetanjali Sree has won Booker prize for which of the following of her novels?

(1) Hamara Shahar us Baras
(2) Ret Samadhi

(3) Khali Jagah

i(4) Tirohit

1) 1
(2) 2
3) 3
(4) 4




e @ & form e % foru farafer ot 1 g qeewn & gumfa fen mn 27
(1) BHIT e 38 98

(2)  ta gy

(3) T e

(9 fotfea

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=17749]
2[Option ID=17750]

3[Option ID=17751]
4[Option ID=17752]

Sl. No.64
QBID:1002064

Savitribai Phule was an Indian social reformer, educationist, and
Maharashtra

(1) Novelist

(2) Painter

(3) Poet

(4) Lawyer

(1) 1
(2) 2
(3) 3
(4) 4
EARAE:) Ex - 'Fa' 2| m ﬁ TF Y :.'-'-.Pl T HHTS HEHE, EI'TP.;I_ ra~ F,\U_Ei D_f“

(1) EREEIEEE AL

(2) IEEETE
(3)  =arEE

(4) SATera=Far

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17753]
2[Option ID=17754]

3[Option ID=17755]
4[Option ID=17756]

from

Sl. No.65
QBID:1002065




Ambedkar memorial is located in a house in ——— where Dr. BR. Ambedkar

(1) Delhi, breathed his last
(2) Mhow, got married
(3) Pune, had his lawver's chamber

(4) Mumbai, taught law and constitution

(1) 1
(2) 2
(3) 3
(4) 4

HATHL THF % 30 W O TG T T 2, S S e s A

(1) 128, 521 3= =79y =g =

(2) g, W& T fE T

(3) U, SRl I T B A Al
(4D) H=E, el FA T AlAUE H ASE

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=17757]
2[Option ID=17758]

3[Option ID=17759]
4[Option ID=17760]

Sl. No.66
QBID:1002066

The guidelines issued by the Supreme Court in Vishaka Judgement related to

(1) Prevention of offences relating to girls

(2) Prevention of offences relating to marriage

(3) Prevention of domestic violence

{(4) Prevention of sexual harassment of women at workplace
1) 1
(2) 2
(3) 3

(4) 4




{9 %9 § =EeE % [ § I=ae =Eed g 96 FeEen Feited 5§ el et 8
(1)  =terrial = Uid 2Hare S0y & e

(2)  ToEE | HeElgd SR w0 HEE

(3) = Temn famm

(4)  FEEEE W AfEes F 9 SehE Hanm

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17761]
2[Option ID=17762]

3[Option ID=17763]
4[Option ID=17764]

Sl. No.67
QBID:1002067

Who is the author of the book ‘Nationalism™

(1) M.K. Gandhi

(2) Rabindranath Tagore
(3) Swami Vivekanand
i(4) Mohammad Igbal

1) 1
(2) 2
3) 3
(4) 4

g AT R % orEs B 27

(1) w3, meh
(2) iz dm
(3) =t feEwEe

(1)  HiEEE A

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17765]
2[Option ID=17766]

3[Option ID=17767]
4[Option ID=17768]

Sl. No.68




QBID:1002068

The black cotton soil of India has been formed due to the weathering of

(1) Brown forest soil
(2) Fissure voleanic rock
(3) Granite and schist
(4) Shale and limestone
(1) 1
(2) 2
(3) 3
(4) 4
yad H weft wom fad —— & e =9t B)
() Hi=
(2) WFFH@EF EELD]
(3)  UEe e fine

(4 9 UE T TR

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17769]
2[Option ID=17770]

3[Option ID=17771]
4[Option ID=17772]

Sl. No.69
QBID:1002069

Which one of the following elements is not associated with tropical cyclones?

(1) Violent winds

(2) Torrential rainfall
(3) Thunderstorms
i(4) Dense fog

1) 1
(2) 2
3) 3
(4) 4




frefeifiaa ael 8 & =9 @1 Iwleda Swam @ g2 T8 87

(1)  ==mEmE
(2)  HEETUR aut
(3)  ame
(4) =1 WiE
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17773]
2[Option ID=17774]
3[Option ID=17775]
4[Option ID=17776]

Sl. No.70
QBID:1002070

The ‘Arabian sea Branch’ and ‘Bay of Bengal Branch’ of Indian monsoon merge together over
which of the following regions?

(1) Punjab and adjoining Himalayas

(2) Central India and Western India

(3) North East India and Assam

(4) Western Ghats and adjoining sea

(1)
(2)
3)
(4)

A W N =

WA W 3 AT e vd e i @t arelt s frw 6 @ e e | o ve-gat &
forer omeft &7

(1) 99 uE e ferer @

(2)  wem WA e ufvan wmE

(3)  Ivydl wra wE 3w

(4)  ufvedt we wE T 93

(1)
(2)
(3)
(4)

A W N =

1[Option ID=17777]
2[Option ID=17778]




3[Option ID=17779]
4[Option ID=17780]

Sl. No.71
QBID:1002071

Which of the following is incorrectly matched for the nationalist newspaper and the region
where it was being circulated?

(1) The Amrit Bazar Patrika — Bengal
(2) The Indu Prakash — Bombay
(3 The Koh-i-noor - Bihar
(4) The Hindu - Madras

1) 1

(2) 2

(3) 3

(4) 4

Tgardt guER 7= e i @ 7 e wamw o % g 3 B § @ we-m e a6 2

(1) g sme=ram gt - ame
(2) & sguem - W
(3) W@ - fmm
(9 3Ry - WM

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17781]
2[Option ID=17782]
3[Option ID=17783]
4[Option ID=17784]

Sl. No.72
QBID:1002072

When did the green revolution in Indian agriculture begin?

(1) Early 1950s
(2) Mid — 1950s
(3) Mid — 1960s
(4) Early — 1960s

(1) 1
(2) 2
(3) 3
(4) 4




WAt Fi § zfa wifa #1 wgvrE fee g 9 gane

(1) 1950 3902
(2) 1950 559
(3) 1960 7L

(4) 1960 39002

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17785]
2[Option ID=17786]

3[Option ID=17787]
4[Option ID=17788]

Sl. No.73
QBID:1002073

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  After the Battle of Kalinga, Emperor Ashoka was immensely moved by the

pain and atrocities as a result of the war

Reason (R) : Ashoka became a great patron of Buddhism.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4




#9721 FoF 5 T E : UF AT9FYA (Assertion (A)) F FI ¥ fAREd 7 @1 7 385 FEW (Reasons (R))

% EH
AEE (A): HOW I F 1, Ig T A0 TEY AU @ A JOEal 8 e I =
F (R) : AIMF g 9 F GEH T 59 T

ITE Fod F A H, A 70 T T § 5 5es I S A 99 Fin

(1) (&) R (R) 5HI & 30 (R), (A) 1w = 2
2 (A R (R)FE T F, A= R), (A) FiomE = T e
(3) (A) TFt 2, =i (R) T8 781 2

(4 (A) =& TE 7, w6 (R) 981 7

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17789]
2[Option ID=17790]

3[Option ID=17791]
4[Option ID=17792]

sl. No.74
QBID:1002074

is a style of architecture in which doors and windows were made by placing a
horizontal beam across two verticle columns

(1) Coebelled

(2) Pietra dura
(3) Arcuate
(4) Arches

(1) 1

(2) 2

(3) 3

(4) 4




areghen 1 U Sttt foad 2t aaa @l W afes fin e g vl fasfaat e 0d of

(1) “hises
(2 Fmog
(3)  GI9RR
(4) FE
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=17793]
2[Option ID=17794]
3[Option ID=17795]
4[Option ID=17796]
Sl. No.75

QBID:1002075

Which of the following unit of geological time scale is of the largest interval?

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Epoch
Period
Era
Eon

asTi gw fam ) frefefaa § 8 <5 4 368 g8 92 siaue f1 27

(1
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

1[Option
2[Option
3[Option
4[Option

1 (Epoch)
HIeErs (Period)
gard (Era)
%9 (Eon)

ID=17797]
ID=17798]
ID=17799]
ID=17800]




Sl. No.76
QBID:1002076

While using maps, in a social science classroom, which of the following would be useful in
teaching visually challenged students?

(1)
(2)
(3)
(4)

(1)
(2)
3)
(4)

A W N =

(1)
(2)
(3)
(4)

A W N =

Ordinary Maps
Digital Maps
Tactile Maps
Google Maps

amifas fagm 1 wan 4, aafas w@m § @@ gwa, gfearfua o & fau fa 9 8@ #89 aweh @ifam
& ?

(1) == aEfeE
(2)  fefses amfa=
(3)  eweTEE "HfEA
(4) T W=

1[Option ID=17801]
2[Option ID=17802]
3[Option ID=17803]
4[Option ID=17804]

Sl. No.77
QBID:1002077

“Ou

r constitution ensures that Government system has different levels of government, which

draw their authority from the Constitution”. This description matches which of the following

features of our Constitution?

(1)
(2)
(3)
(4)

(1) 1
2) 2

Secularism
Parliamentary form of Government
Directive principles of state policy

Federalism




3) 3
(4) 4

FATT BiEuH 97 GATEd a2 5 T o= @ 9E 6 e w1 A, (90 O v gfEgE @ s g
SN g = - b E

yE e @l B # A e § e w2

(1)  9gEwE

(2) e TEE 9T

(3) 9 F AfaHeTE 94
(4) HEEE

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17805]
2[Option ID=17806]
3[Option ID=17807]
4[Option ID=17808]

Sl. No.78
QBID:1002078

Nai-Taleem is also called as

(1) Wardha Scheme of Basic education
(2) New Era Educational Policy
(3) Educational Scheme of New India

(4) Educational Vision of Independent India

(1) 1
(2) 2
(3) 3
(4) 4




Eaemw — off = e B

(1)

(3)

(4)

1) 1
(2) 2
3) 3
(4) 4

i fram drsn
EERUIEREGIRIEE]

Tu W i fen A
Taad WA i Hfes gfe

1[Option ID=17809]
2[Option ID=17810]
3[Option ID=17811]
4[Option ID=17812]

Sl. No.79

QBID:1002079

Match List I with List 11

()

(B)
(€)
(D)

List I

Ashoka and the decline of the
Mauryas

The won77der that was India part 11
India Brief History of civilization

The wonder that was India

List IT
(I A.L. Basham

(IT) Romila Thapar
(III) S.AA. Rizvi
(IV) Thomas R. Trautman

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(IV), (B)-(I1IL), (C)-(1I), (D)-(L)
(A)-(I), (B)-(ID), (C)-(I1D), (D)-(IV)
(A)-(ID), (B)~(III), (C)-(IV), (D)-(D)
(A)-(IV), (B)-(D), (C)-(1I), (D)-(I1L)




g1 % @1y g=-11 +1 foem fifsw

a1 il ||
(4) i Ug g fevemmg o g O (1) Tue. am
(B) T 9=t e 9 sfem-ai 11 (I1)  Tfeen =
(C) sfem e feedt ofe fafaemsssm (IIT) we.v,u, frormeh
(

(D) & == g 9= sfe V) #md. AR, deiA

Hr= feu 7o fawei ° & ot I % ==w e

(1) (A)-(IV), (B)-(ID, (C)-(II), D)-[@)
(2) (A, (B)-(ID), (C)-(IID), (D)-(IV)
(3)  (A)-(D, (B)-(IID), (C)-(IV), D)-)
(4)  (A)-(IV), (B)-(D), (C)-(II), (D)-(III)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17813]
2[Option ID=17814]

3[Option ID=17815]
4[Option ID=17816]

Sl. No.80
QBID:1002080

Given below are two statements :

Statement [ : The Harappan civilization came to an abrupt end.

Statement II : Environmental degradation was one of the factors that contributed to the

decline of the Harappan civilization.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both statement | and statement Il are true

(2) Both statement I and statement 11 are false

(3) Statement [ is true but statement I is false

(4) Statement [ is false but statement I is true
(1) 1

(2) 2




3) 3
(4) 4

e @1 wee feu o € e #fTRRE (Assertion {A}]%Wﬁ%ﬁﬁ%ﬁ[@ﬂmwmeasnns
(R)) % &9 H :

Hfed (A):  FEO1 WA HT HHE A B3

% (R) - Tttt i 850 @3aT & 969 | FEH ¢4 9Tel U Sl il
I HYF % e °, fie fou o fawedi § & gew Iww Iw w1 =5 Fifsw

(1) (A) 3 (R) EF1 &1 2 3 (R), (A) i & =7me 2

(2) (A3 R) I T E, A (R), (A) A FE = 76 2
(3 (AR, S R) v T 2

(4) (A FE T R, afe (R) w2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17817]
2[Option ID=17818]

3[Option ID=17819]
4[Option ID=17820]

Sl. No.81
QBID:1002081

In April 2021, which Covid-19 variant caused deadly pandemic in India?

(1) Alpha
(2) Delta
(3) Gamma
i(4) Omicron

(1) 1

(2) 2

(3) 3

(4) 4




f= 4 4 sifaE-19 =1 FH-m1 =y 9E § FEeg 9EEH S S w117

(1)  3®
(2) e
(3) T
(4)  3AnfwE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17821]
2[Option ID=17822]
3[Option ID=17823]
4[Option ID=17824]

Sl. No.82
QBID:1002082

A non violent, social and ecological movement by rural villagers, particularly women, in India
in the 1970's, using the primary tactic of embracing trees to impede loggers is known as

(1) Chipko movement

(2) Jungle Bachao Andolan

(3) Appiko movement

i(4) Tehri dam conflict

(1) 1
(2) 2
(3) 3
(4) 4

1970 ® HEfivn g1, WEF HEensl gl US H wed ® 99 F 90 USl % T e sl Hifers

M AT, TF SAEAF A Ud S0 A 9ol T4 56 R 9 " e e 2
(1) oo e

(2) ST s A

(3) TRl S

(4) =i =g guy

(1) 1
2) 2
3) 3




(4) 4

1[Option ID=17825]
2[Option ID=17826]
3[Option ID=17827]
4[Option ID=17828]

Sl. No.83
QBID:1002083

‘Seientific controls’ are used in experiments to

(1) Maximize the effects of variables other than the desired variable
(2) Minimize the effects of variables other than the desired variable
(3) Maximize or minimize the effects of variabhles as needed
(4) Use as spare set if the main experimental set up doesn't work
(1) 1
(2) 2
(3) 3
(4) 4

war # “dafre e &1 v e s 2

(1)  =ifesd =1 I SBigwt 319 T+ 99E &l HAfuwas FH 5 foo

(2)  aifed 90U I SEH 7 T F G9E H A9 B 5 o

(3) &I % 3ET 90 & 99 & fUE @ w9 we & fow

(4)  af ge Wi wwe T @ a1 dwfere w6 & d T s % fog

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17829]
2[Option ID=17830]

3[Option ID=17831]
4[Option ID=17832]

Sl. No.84
QBID:1002084

The butterfly and moth develop through the process called

(1) Mutation
(2) Transfiguration
(3) Ewvolution
(4) Metamorphosis

(1) 1
2) 2




(3) 3
(4) 4

(1) ERiIEEnRE

(2) ETHT
(3)  IeHild
(4) AT
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17833]
2[Option ID=17834]
3[Option ID=17835]
4[Option ID=17836]

Sl. No.85
QBID:1002085

‘Wings of fire’ is an autobiography of
(1) APJ Abdul Kalam

(2) Homi .J Bhabha

(3) Vikram Sarabhai

(4) CV Raman

(3)
(4)

A W N =

1[Option ID=17837]
2[Option ID=17838]
3[Option ID=17839]
4[Option ID=17840]




Sl. No.86

QBID:1002086

The homologous organs are those that show similarity in their

(1) Size
(2) Funetion
(3) Appearance
(4) Origin
(1) 1
(2) 2
(3) 3
(4) 4
A FT A B, o A —— H gyl fo@m 2
(1) =TT
(2) e
(3) PETE]
(4) I
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17841]
2[Option ID=17842]
3[Option ID=17843]
4[Option ID=17844]

Sl. No.87

QBID:1002087

Which is the oldest nuclear power plant in India?

(1
(2)
(3
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Tarapur Atomic power station
Rajasthan atomic power station
Kudan Kulam nuclear power plant

Narora atomic power station




= 9 " FF 9 g9 WA WA {9 9 27

(1)  oWIgE e famy |99
(2)  ToEH T 5=
(3)  FsFeW 31 foma &
4) T e gy g
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17845]

2[Option ID=17846]

3[Option ID=17847]

4[Option ID=17848]

Sl. No.88

QBID:1002088

Choose the correct statement from the ones given below :

(1)
(2)
(3)
(4)

Chromosomes are present in all non-dividing cells
DNA is present in the cytoplasm
Genes are functional units of DNA

There are 46 pairs of chromosomes in Humans

(1) 1
(2) 2
(3) 3
(4) 4
i feu o weAt & & @ wum g
(1) T avh -fennform st & e g 8
(2) <o arEderss § Hig 2
(3) < guan it FEieTs 36 8
(4) =g T % 46 W2 E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17849]
2[Option ID=17850]
3[Option ID=17851]
4[Option ID=17852]
Sl. No.89

QBID:1002089




Which phylum is the largest in the animal kingdom?

(1) Nematoda
(2) Arthropoda
(3) Annelida
i(4) Vertebrata

(1)
(2)
(3)
(4)

A W N =

73] FHTR § RA-H1 HIEeW dEE T 87

(1)  99@ErEr
(2) I
(3)  wfer=n
(4)  HIEH

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=17853]
2[Option ID=17854]
3[Option ID=17855]
4[Option ID=17856]

Sl. No.90
QBID:1002090

The largest artery in our body is

(1) Vena cava
(2) Pulmonary artery
(3) Aorta

(4) Cranial artery

(1) 1
(2) 2
(3) 3
(4) 4

AT I | wed = et 27

(1) &1 &1E (2)
(3) HeETaH- (4)

FEREE THA
e Tt




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17857]
2[Option ID=17858]

3[Option ID=17859]
4[Option ID=17860]

Sl. No.91
QBID:1002091

What is another way of writing at+a+a+a

(1) al (2) 4da
(3) a4 {4) aaaa

(1)
(2)
(3)
(4)

A W N =

a+a+a+a fo@d & 39 afis w1 27

(1) al (2) 4a
(3) ad (4) aaaa
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=17861]
2[Option ID=17862]
3[Option ID=17863]
4[Option ID=17864]

Sl. No.92
QBID:1002092

Which of the following is an example of the identity property of addition

(1) 72+51=51+72 (2) 3+92 =95
(3 17+0=17 (4) (2+4)+5=2 +(4+5)
(1) 1
(2) 2
(3) 3

(4) 4




fr= & & ®1 @ Jg i gaafie o w1 e 27

(1) 72 + 51 =51 + 72 (2) 3+92=95
(3) 17+0=17 4 (2+4)+5=2+(4+5)
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17865]
2[Option ID=17866]
3[Option ID=17867]
4[Option ID=17868]

Sl. No.93
QBID:1002093

What is the sum of the Prime numbers that are greater than 50 but less than 607

(1) 51 (2) 179
(3) 112 (4) 110

(1)
(2)
(3)
(4)

A W N =

50 @ @it o 60 & B TS GENE * Fel G 91 B E

(1) a1 2 179
(3) 112 (4) 110

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17869]
2[Option ID=17870]

3[Option ID=17871]
4[Option ID=17872]

Sl. No.94
QBID:1002094

It P(E)=0.05, What is the probability of ‘not E'

(n 1 (2) 0.95
(3 0.05 (4 0

(1) 1




2) 2
3) 3
4) 4

afz P(E) = 0.5 % a1 ‘not E’ <1 wifesan =1 gnft 7

(1) 1
(3) 0.05

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17873]
2[Option ID=17874]

3[Option ID=17875]
4[Option ID=17876]

(2) 0.95
4y 0O

Sl. No.95
QBID:1002095

‘Pi'isa

(1) Rational Number

(3) Natural number

(1) 1
(2) 2
(3) 3
(4) 4

PiEn 27
(1)  ofers g
(3)  Weplas HEm

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17877]
2[Option ID=17878]

3[Option ID=17879]
4[Option ID=17880]

(2) Irrational number
{(4)  Whole number

(2) iy gen
(4) Tl

Sl. No.96
QBID:1002096




How many different combinations does a Rubik’s cube have?

(1) Approx 43 quintillion (2) Approx 43 octillion
(3) Approx 43 quadrillion (4) Approx 43 septillion

(1) 1
(2) 2
(3) 3
(4) 4

=i o (F9) § e STem - HeE HE w2 7

(1) =19 43 Tefema (2) T 43 FiiwterEE
(3)  =HT 43 TS (4) =T 43 "o
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17881]
2[Option ID=17882]
3[Option ID=17883]
4[Option ID=17884]

Sl. No.97
QBID:1002097

Triangles are used in constructing bridges because

(1) They flatten the force in centre

(2) They evenly distribute weight without changing their proportions
(3) They unevenly distribute weight and change their proportions

(4) They form aesthetically good looking patterns on the bridge

(1) 1
(2) 2
(3) 3
(4) 4

it =1 wam aq Fwiw 4 e st 2, =i
(1) 98 &g o a1 %I G Bd &
(2) 98 39 "ot fa g9 & gum w9 fyafa s gd #

(3) 9 3mgum =9 & go et e, 3 see < #
(4) == dicd 1 3 | Ag ® g sl Pl w@ @

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=17885]
2[Option ID=17886]
3[Option ID=17887]
4[Option ID=17888]

Sl. No.98
QBID:1002098

The number on the opposite side of the six sided dice always add up to

(1) 6 2y 7
(3) 8 {4y 10

(1) 1

(2) 2

(3) 3

(4) 4
T EH afa fm S i Hr gt wamata —— @
(1) 6 2y 7
(3 8 (4y 10

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17889]
2[Option ID=17890]
3[Option ID=17891]
4[Option ID=17892]

Sl. No.99
QBID:1002099

Which of the following is one of the properties of a Pascal’s triangle?

(1) Each number is the sum of the two numbers below it
(2) The outside numbers are all 1
(3) The triangle is asymmetric
(4) The sums of number of rows give the powers of 3.
1) 1
(2) 2
(3) 3

(4) 4




frafefaa d & =9 e By S i § F ww 27
(1) o g 35 A= 6t 2 gEnet & T B 2
(2)  =mel ged w8

(3) Py smmfiE g 2
(4)  dferal i G & I 3 & g o 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17893]
2[Option ID=17894]

3[Option ID=17895]
4[Option ID=17896]

Sl. No.100
QBID:1002100

India currently follows which number system?

(1) Arabic-Hindu number system
(2) International number system
(3) Hindu-Arabic number system
(4) Roman Number system

(1) 1

(2) 2

(3) 3

(4) 4

YA 9aAH § i ® T ToTelt 390§ S 8 7

(1) 3wt fag wwen gomeft (2)
(3) fog e e womeh (4)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17897]
2[Option ID=17898]

3[Option ID=17899]
4[Option ID=17900]




